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My project.xpr

Program lists and diagrams

(Do |

Rung 0 D_MANAGER 0
SHORT ‘D_‘Iy:ANAGER 0
1 1
Rung 1 D_SETPOINT_MODE_0:=0

/6513 %M150
|

%MW3 := 0

/1

%M100

T

%M100
{

D_RUN_FWD 0
D_RUN_FWD 0

\

H

D_SELECT_SPEED 0
D_SELECT SPEED 0

—

D_SETPOINT_0 := %MW202
%MW4 .= %MW202

sMW4 > 0

<

Rungz  [D-SETPOINT 050 |

—

%25

(H

—

Rung 3 D_STOPO
oM 150 D_STOP 0
_| | [
I 1
Rung 4 D_CLEAR ERRO
%S13 D_CLEAR_ERR 0
| |
[%MW200 := 137
%MW200 = 137
|
1
Rung 5
SHORT

[%MW202 := %MW200 + %MW198

EMN202 = SGMW200 + %MV/198
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Rung 6 %QW0.2.0 := 10000
SHORT, }%QWD.Z.D = 10000

|
1

Il

(2o |

Rung 0 [%MW11 ;= %IW0.2.0
SHORT §°’-°M‘I’V“ ]
1 { |_
[%MW12 := %IWO0.
;%MW12 1= %IW0.2.1
[ ]
I L
[%MW13 := %IW0.2.2
%MW13 = %IW0.2.2
|
[
. -
MW14 := %IW0.2.3
%MW14 = %IW0.2.3
|
[
1 I_
Rung 1 [%MF50 := INT_TO_REAL( %MW11 )
SHORT INT_TO_REAL( %MW11) |_
INT_TO_REAL( %MW12)
T _TO_REAL( %MW12)
| |
1 |_
[%MF54 := INT_TO_REAL( %MW13 )
[%MF54 := INT_TO_REAL( %MW13)
[
. =
[%MF56 := INT_TO_REAL( %MW14 )
%MF56 := INT_TO_REAL( %MW14)
| |
. I—
Rung 2 %MF60 := %MF50 / 10.0
SHORT ;%MII:GU := %MF50 / 10.0
1 { |_
[%MF62 := %MF52 / 10.0
%MF62 := %MF52 / 10.0
| |
. =
[%MF64 := %MF54 /10.0
%MF64 := %MF54 / 10.0 o
L
. -
[%MF66 := %MF56 / 10.0
%MF66 := %MF56 / 10.0 o
| |
. I—
Rung 3
=l %M140
- 0=
[%MF110 := 308.25 ]
[%MF110 := 308.25
T
. —
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Rung 4 2
%MF102 >= 308.25 |
| |
L= | L -
%M141
{ )
\
Rung 5 [oMF114 := 308.25
| |
< I |-—
%142
{ )
\
Rung 6 [%oMF116 := 308.25
%MF116 := 308.25
| I |
< I |7—
%143
7
\
Rung 7 %IW0.2.0 >410  [%MF110 <= 308.25 L
%IWO0.2.0 > 410 Y%MF110 %MB0
| I | ] {
—| < — < I \
%IW0.2.0 > 380
%MB0__ [%IW0.2.0> 380
H P
Rung 8 [oIW0.2.1>410  [%MF112 <= 308.25
%IWO0.2.1 > 410 %MF112 <= 308.25 %MB81
| | {
H < T < | (H
%IW0.2.1 > 380
%MB1  PAIW0.2.1> 380
I——| < I
Rung 9 [61W0.2.2 > 410
%IWO0.2.2 > 410 %MB82
{
_| < — {
%IW0.2.2 > 380
PoMB2  [%IW0.2.2>380
|__| < I
Rung 10 [6IW0.2.3 > 410 %MF116 <= 308.25
%IW0.2.3 > 410 %MF116 08.25 %M83
| {
H - o - | (
%IW0.2.3 > 380
P6oMB3  [%IW0.2.3 > 380
H =]
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Rung 11 5 ‘:/0MF7U f 410.0 - :A:MFSO

%MB0 %MF70 := 410.0 - %MF50
| I
| |

-

(T[Tl

[%MF100 := %MF90 / 30.0
%MF100 := %MF90 / 30.0
I

1
[%MF120 := %MF80 * 50.0
1%MF120 := %MF80 * 50.0
[

[%MF130 := %MF120/ 30.0
%MF130 := %MF120 / 30.0
T

LT

-

Rung 12
%M80
|
%MF110 := 0.0
%MF110 := 0.0 )
L] |
|
Rung 13 PeMF130 >= 500 | [%MF130 := 50.0
%MF130 >=50.0 | %MF130 = 50.0 -
| |
u I , -
Rung 14 [%MF72 := 410.0 - %MF52
A %MF72 = 410.0 - %MF52

0.0 - %MF72

30.0 - %MF72

[%MFO2 := %MF82 * 308.25

:= %MF82 * 308.25
I
[%MF102 = %MF92 / 30.0
%MF102 := %MF92 / 30.0

[%MF122 := %MF82 * 50.0

[%MF122 = %MF82 * 50.0
I

[%MF132 := %MF122 / 30.0

{%MF132 := %MF122 / 30.0

(LT T T

1

-
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Rung 15

Rung 16

Rung 17

Rung 18

Rung 19

%MB1
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F132 := 0.0
MF132 = 0.0

/1

-

[%MF112 := 0.0

%MF112 = 0.0

[/bMF132 >= 50.0

1

[%MF132 := 50.0
%MF132 := 50.0

-

[%MF74 := 410.0 - %MF54

%MF74 := 410.0 - %MF54

%NMF84 = 30.0 - %MF74
%MF84 = 30.0 - %MF74

L
%MF94 := %MF84 * 308.25

%MF94 := %MF84 * 308.25
LT

[%MF104 := %MF94 / 30.0

%MF104 := %MF94 / 30.0

[%MF 124 := %MF84 * 50.0

%MF124 = %MF84 * 50.0
|

LT LT T T

[%MF134 := %MF124 / 30.0

%MF134 := %MF124 / 30.0

%M82

1T

=/

-

%MF114 := 0.0

%MF114 = 0.0

PAMF134 >=50.0

<

MF134 >=50.0 |

1

[%MF134 := 50.0

%MF134 := 50.0

L
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Rung 20 [%MF76 := 410.0 - %MF56
boMB3 %MF76 := 410.0 - %MF56
| [ |
I |
[%MF106 := %MF96 / 30.0 )
%MF106 := %MF96 / 30.0 .
[ |
,,v..l,. Ey——— = - - |
[%MF126 := %MF86 * 50.0
%MF126 := %MF86 * 50.0 ]
[ |
[%MF136 := %MF126 / 30.0
%MF136 := %MF126 / 30.0 ]
L |
1
Rung 21
%M83
|
=/ - -
[%MF116 := 0.0
[%MF116 := 0.0 .
L |
1
Rung 22 pAMF136 >=50.0 | [%MF136 := 50.0
%MF136 >=50.0 | 1%MF136 := 50.0 -
| [
_| b I 1 |_
Rung 23 ] | %MF110 := %MF100
%MBO  [%6M140 | [%MF110 := %MF100
e P )
H -/ | H
Rung 24 | [MF112 := %MF102
%MB1  6M141 | %MF112 := %MF102 -
[ L
/1 | =
Rung 25 | [%MF114 := %MF 104
%MB2  hM142 | [%MF114 := %MF104 -
[ [
/1 | H
Rung 26 | [%MF116 := %MF106
%MB3  %M143 | {%MF116 := %MF106 -
[ [
/1 | =
Rung 27 [%MF110 = 0.0
%Q0.2 1%MF110 := 0.0 -
| [ |
/I !
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[%MF112 := 0.0

Rung 28 |
15Q0.3 %MF112 := 0.0 )
| L
—/1 . H
Rung 29 [%MF114 := 0.0
£6Q0.4 %MF114 := 0.0 )
| LT
—/1 . H
Rung 30 [%MF116 := 0.0
£5Q0.5 %MF116 := 0.0 ]
| I
/1 . H
Rung 31 %MF140 := %MF110 + %MF112
SHORT %MF140 := %MF110 + %MF112
1 LT |
1
%MF142 := %MF114 + %MF116
%MF142 := %MF114 + %MF116
I |
%MF144 := %MF140 + %MF142
%MF144 := %MF140 + %MF142 ]
LT |
1
Rung 32 PoIW0.2.0>410 | i
%M10 [%M150 %Q0.2
/H/1 (
[ \
%M132
(
\
Rung 33 ,0 -
%M11_ [AM150 %Q0.3
/H/1 0=
I \
6Q0.3 %M133
{ )
\
Rung 34 PoIw0.2.2>410 i
%M12 %M150 %Q0.4
| | {
/=71 (-
%M134
{
\
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Rung 35 £IW0.2.3>410 | |
%IW0.2.3 > 410 %M13 %M150 %Q0.5
» | / [ [
|_ I \
Q0.5 %M135
= (H
\
Rung 36 Bl b et i,
P6IW0.2.0 <380 | %M10
< (H
Rung37  [#W02.1<380 |
P6IW0.2.1 < 380 %M11
< (H
Rung 38
%M12
{ )
\
Rung 39 e e
6IW0.2.3 < 380 %M13
< ( )_
Rung 40 %IW0.2.0 >= 500 | —
%IWO.2. %»M10 %M14
| {
- < I ( H
%M14
Rung 41 ! —
%M11 %M15
! | s
| \
Rung 42 o
wM12 %M16
| {
| \
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Rung 43 [oIW0.2.3>=500 | —
56IW0.2.3 >= 500 %M13 %M17
— < /1 (
POM17
(Do |
Rung 0 L
9 Ai0.0  %03.0  S6Md0 T ME0 ‘ M60
| | {
=/ =/ /= (
PAMT10
/M50
_l |
|
/M60
_I |
|
Rung 1 [
PAMB0 %M14 | %Q3.0
H /- (
| \
Rung 2
Q3.0  [%TMO ‘A:MSO
| {
Q
_| | TYPE TON \ )_
TB 100ms
ADJ Y
%TMO P
10
Rung 3 - ;
[%M30 /M50 %M40
[ {
] | \
WMA0
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Rung 4

Rung §

Rung 6

Rung 7

Rung 8

Rung 9

PAMA0 — (%TM1
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My project.xpr

%M50

= IN q
TYPE TON
TB 100 ms
ADJ Y

%TM1.P
80

%MB0

\

%M70
{

BMAD

SNe

6104 %CO

! ADJ Y

| %CO.P
%M120 1o

2610.0

mill .

%M110

HH e

ZAVAK

-

SHORT,

\

[%MW30 = %C0.V
%MW30 = %C0.V
I

picov=o |

%C0.V =0

u EEEEE

L

%MI0
{

fAC0.V >= 1 [eCO.V <=3

%CO.V >= 1 ~ COV <=3

S

TP = 80
%TM1.P := 80
[

L
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Rung 10  [ACOV>3 ACOV <=6 %TM1.P
PACOV > 3 %CO.V <=6 PTMIP : )
] I
— = — i I 1 H
Rung 11 P2CO.V > 6 [ACOV <=9
%CO.V > 6 — %COV <=9 . -
—{ < —— < | F—
Rung12  [#CONV>9 [ACO.V <= 13 %TM1.P
%CO.V > 9 wCOV<=13 PATMIP : -
| ] I
— = — s I 1 H
Rung 13 P4C0.V > 13 [6CO.V <= 18
PLCOV > 13 — %COV<=18 -
| ]
H - - ] =
Rung 14 p4C0.V > 18 | %TM1.P := 25
PACO.V > 18 %TM1.P = 25 )
I
< I |—
Rung 15
%Q31  %M4T  %M3T %M1 %MB1
H/FH/FA/FY] (H
[ \
Rung 16 :
PoMB1  [%M15 | %Q31
H /1 (H
[ \
Rung 17

%Q3.1 SBTM2

N

%M31

TYPE TON
TB 100ms
ADJ Y
%TM2.P
10

(H

A-11°
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Rung 18 — I
%M31 %M51 YoM41
| (
H /1 (H
%M41
Rung 19
PoM41 %TM3 %M51
—| -~ '
| TYPE TON \
TB 100ms
ADJ Y
%TMIP
80
Rung 20 I
%MB61 %M71
_| | (
T {
M4
Rung 21 : |
%l0.5 C1 \
_| | =
! ADJ Y
WC1P
AM121 10
HH  + o
%10.1
I —
I U Fl
oM111
CD
%M115
Rung 22 [%MW31 := %C1.V
SHORT, %M\I/\I31 = %C1.V )
H { |_
Rung 23 4C1.v =0
%C1.V=0 %M91
- (
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Rung 24

Rung 25

Rung 26

Rung 27

Rung 28

Rung 29

Rung 30

Rung 31

PACTV >=

1 %C1V <=3

PAC1.V >=

1 %C1.V <=3

-

%TM3.P = 80

%TM3.P -

PAC1.V >3

PAC1V <=6

%C1.V >3

%C1.V <=6
|

I =

-

PoC1V > 6 RC1.V

=5

5C1.\V > 6

— <

%C1.V <=9
|

T

T3P

%TM3.P =

SE

p4C1.V > 9

%C1.V <= 13

PsC1.V > 9

— PC1V<=13

H -+

T

6C1.V > 13

%C1.V<=18

6C1.V > 13

[%C1.V <= 18

— <

T

[%TM3.P = 30

%TM3.P := 30

S

<

PeC1V > 18
P6C1.V > 18

%TM3.P :

%TM3.P = 25

%Q3.2  [%M42 %M32

%M92

—/ /A

T

%M62

(

=71

\
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Rung 32 - — —
6Q3.2 %HTM4 %M32
| N
IN Q)
I TYPE TON \
T8 100ms
ADJ Y
%TM4.P
10
Rung 33 — I
%M32 %M52 %M42
/1 (
| \
%M42
Rung 34 .
%M42 %TM5 %M52
| N (
Q)
| TYPE TON \
TB 100ms
ADJ ¥
%TMS.P
80
Rung 35 .
PoMB2 %M72
_| | I
| \
%42
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Rung 36

Rung 37

Rung 38

Rung 39

Rung 40

Rung 41

Rung 42

Rung 43

Rung 44

T
£610.6 %C2
1 [
1 ADJ Y
%C2.P
%M 122 10
—1s
%10.2
|
— | M
PoM112_
- co
[AM116
[%MW32 = %C2.V
SHORT 1%M\|N32 = %C2.V ]
1 { |_
M2
{ )_
\
FAC2.V >= 1 %C2V <=3 %TM5.P = 80
%C2.\V >= 1 %C2V <=3 %TMS5 P := 80
H - | -
p4C2.V > 3 %C2V <=6 %TM5.P := 70
[AC2.V > 3 %C2.V <=6 %TMS P = 70 _—
H - — H
p4C2.V > 6 %C2V<=9 [%TM5.P = 60
P6C2.V > 6 %C2V<=9 %TMS5 P := 60 )
H - — -
pAC2.V > 9 %C2.V <= 13 [%TM5.P := 50
%C2.\ > 9 — %C2V<=13 %TM5.P := 50 -
H - { - : H
fAC2.V > 13 %C2V <= 18 [%TM5.P = 30
%C2.V > 13 ~ C2V <= 18 %TM5 P := 30 )
_| < |_| < : |_
poC2.V > 18 [%TM5.P = 25
PoC2.V > 18 %TM5 P = 25 -
< | |_
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Rung 45
[%10.3 %Q3.3  %M43 %M33 %M93 %M63
[ |
A/ A/ (
boM113
%M53
_| |
L
%MB3
_| |
|
Rung 46
PoMB3  %M17 | %Q3.3
H /1 (H
| \
Rung 47
6Q3.3 % TM6 %M33
| IN (
| TYPE TON \
TE 100 ms
ADJ Y
%TMB.P
10
Rung 48 -
%M33 %M53 %M43
H /1 (
|- I \
A
Rung 49 _
%M43 HTMT %M53
—| | IN (
| TYPE TON \
TB  100ms
ADJ Y
HTM7.P
80
31/38
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Rung 50

Rung 51

Rung 52

Rung 53

Rung 54

Rung 55

Rung 56

Rung 57

%ME3
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%M73

roM43

_I

\

— <

\
[%C3 ‘
[ =l
ADJ Y
%C3.P
FNi123 10
HH  + o
P610.3
| L
| = u i
PaM113__ |
— co
beMAT7
M3 _
SHORT %M\INSS = %C3.V -
1 { |_
%M93
{
\
pAC3V >= 1 %C3.V<=3 [%TM7.P
FAC3.V >= 1 ~ %C3V<=3 — %TM7.P -
| 1 L
_| £ |_| = I 1 |_
f4C3.V >3 %C3.V <=6
6C3N > 3 — BC3V <=6 - -
[ 1
- —
fAC3.V > 6 %C3V<=9 [%TM7.P := 60
PC3V > 6 — C3V <=9 - %TM7.P = 60 -
1 LT
_| = |_| & I 1 |_
[6C3.V > 9 %C3.V <= 13 [%TM7.P := 50
PoC3.V > 9 _ C3V<=13 %TM7.P = 50 -

S —— =
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Rung 58

Rung 59

f4C3.V > 13

%C3.V <= 18

PAC3.V > 13

%C3.V <= 18

— <

-

%C3.V > 18
<

paCav>18 |

%TM7.P = 30

%TM7 P := 30 )
| |_
1

[%TM7 P = 25

%TMT7.P = 25

-
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